Simplificar Expresiones (D)

vt+v+v—1
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. o +4cu-+2u
cu

1+ —ux—1

. —14+T7v+6v+1

Simplifique cada expresion.

6. c+a*+1+c?

Ta%b

8. —ax-(—9a)-2a* -4

9. ¢c-(=Tc)-c* =1

10. c—x+1+c¢
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Simplificar Expresiones (D) Respuestas

Simplifique cada expresion.

Lv+v+v—1 6. >+a’+1+c?
=3v—1 =22 4+d*+1
6cu 2

2. — +4cu+2u ; 2_3 Ta’h
cu LA ==
=4 2u+6 a

cut st - —Tb—3
3.14+% —ux—1 )
— —ux+9u 8. —ax-(—9a)-2a” -4
= T2a*x

4. —14+Tv+6v+1

= 13v 9. ¢c-(=Tc)-c*—=1c*
= 7~ 72
7 2
5. 6¢- _iz —1
C 10.c—x+1+4c
= —42¢c—1 =2c—x+1
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